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“Hi, Are you a beauty school?
Because I would like to find out
more about your beauty course”






“IF YOU WISH 10
MAKE AN APPLE
PIE FROM SCRATCH,
YOU MUST FIRsT

INVENT THE UNIVERSE ~
CARL SAGAN
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The Flash Crash of 2

PREVIOUS CLOSE: 10,868.10

1
Dow industrials

10.600

Momentary Lapse

10.400
Stock markets plunged suddenly
yesterday afternoon and gained
speed as computer programs
prevented losses. But almost as
10,200 quickly, the market recovered
much of the decline.
10.000
10AM. 1AM 12PM. 1PM. 2PM. 3PM.
Source: Bloomberg THE NEY



The evolution of the w
can be compared |
fireworks that has jus
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Standing on a cooled
the slow fading of the
try to recall the vanis}
of the origin









Hubble Deep Field

AT el OFD ey (L PR B S e e SO0 T (8 T ) e AL




+ K00 KM

300K

- - E R s 3 P -
B

5

s

-

. I DISTANCE » ——
Rt~ P s o

0 D PARSECS

FIGURE 1



tance modulus

Dis

...........

zz.ﬂi,;___l_:z__:rl_
sy 5L

5.02 (504 5.08

4.0 4.5
loglcz)

h.08 I_ﬂ A0 ..112 614

|

5.0 5.5

44

42 -

40 |

38t

High-z/ S

Q,,=0.28=0.10

36 ,
C _:-'{
34 - @q!
.
(b0}

Evolution of the Hubble Diagram 1
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Today
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The Large Synoptic Sury
Telescope (LSST, 202

The “40 moons Telescope”™






THE CMB
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SPT,
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